o

B EE—— D>y FikF

AIl'TALC

F1—TJ——RSH

§
H EA %
2:K ¢
o2 [T - N
s ==Y 3 — = e[ g |
TLDDY S v — 4 1< 0 B 5~
v NS EDI0) o ] [ 5
i - o (G] ] b
e SN a8\ N i
——T—. J | 1 i
ME — E )
R - ‘ ’M
AR /iS5 oD R E GA X:4G xt:3H
PMF401 4 1/8"|M12X1(8 25 |14 |12 |4 |4 |14 14
PMF402 1/4"|M12X1|11 |29 (14 |12 |4 |4 |14 17
PMF601 1/8"|M14X1|8 25.5(16.5(12.5|5 |4 (17 17 BMR/58S5 OD R OP L C K EA EB DC iH
PMF602 |6 [1/4"|M14X1|11 |30.5/16.5(12.5|5 |4 (17 17 PHW401 (4 1/8" |9 7.5 |38 |14 |(20.5|/14.5|13 |11
PMF603 3/8"|M14X1|12 |31.5/16.5|12.5|5 |4 |17 21 PHW601 1/8" [12.5|7.5 |38 |16.5|23.0(15 (13 |11
PMF801 1/8"|M16X1|8 27.5/18.5/13.5/5.5|4 |19 19 PHW602 |6 1/4" [12.5/10 [43.5/16.5(25.0(17.5|15.5/14
PMF802 8 1/4"|M16X1|11 |32 |18.5|13.5/5.5|4 |19 19 PHW603 3/8" |12.5/11 |50 |16.5/27.0|20 |16.5|19
PMF803 3/8"|M16X1|12 |33 |[18.5[13.5/5.5/4 |19 21 PHWS801 1/8" |15 |7.5 |40.5|18.5|26.5/16.5(15.5|11
PMF804 1/2"|M16X1|13.5|34.5(18.5|13.5|5.5|4 |19 25 PHW802 8 1/4" |15 10 |43.5|18.5(28.5(18.5(15.5|14
PMF1001 1/8"|M20X1|8 30 |21 14.5|7.5|5 (24 22 PHWS803 3/8" |15 |11 |50 [18.5(29.5/20 |16.5|19
PMF1002 10 1/4"|M20X1 |11 (35 (21 14.5|7.5|5 (24 22 PHWS804 1/2" |15 |14 |61 18.5|32 (24.5|22 |24
PMF1003 3/8"|M20X1(12 (36 |21 14.5(7.5|5 (24 22 PHW1002 1/4" |18 |10 |46.5|21 |31 (20 [18.5|14
PMF1004 1/2"|M20X1|13.5(37.5(21 14.5|7.5|5 (24 25 PHW1003|10 (3/8" |18 |11 (55 |21 |33 |21 (22 |19
PMF1202 1/4"|M22X1|11 |34.5(23 |15.5|18 |6 (27 24 PHW1004 1/2" (18 (14 |61 |21 |35.5(25 (22 |24
PMF1203(12 (3/8"|M22X1|12 |37.5(23 |15.5|18 |6 (27 24 PHW1203 12 3/8" |21 11 |55 (23 |36 (23 (22 |19
PMF1204 1/2"|M22X1|13.5|39 (23 |15.5(18 |6 (27 25 PHW1204 1/2" |21 14 |61 |23 (38 ([26.5(22 |24
— !
. ¢
K i y i .
FT 1T ] i g | M
i A e T - — RB T
o ‘ il o © Ei i _
: U M5t =
_| ‘ ‘ Uj ‘ (¢} ﬂ 7%'7 - I gi s
| N ﬁ M5{iE
AN g « \ |
= 5
E
M/ 4 RA
BR/5TS oD R oP L [¢ K E 3$50H BH/5ES OD RA RB ®P LA LB C K E 358H
PH4M5 4 M5x0.8(9 3.5 17 14 19 8 PHF4M5 M5x0.8M5x0.89 3.5|6 20 (14 |19 |8
PH401 1/8" 9 7.5 25 14 20.5 |11 PHF401 1/8" 1/8" 9 7.5|8 29.5/14 (20.5(12
PH6M5 M5x0.8(12.5 |3.5 17 16.5 |23.5 (8 PHF6M5 M5x0.8M5x0.8/12.5(3.5 |6 20 |16.5/23.5(8
PH601 6 1/8" 12.5 |7.5 25 16.5 |23 11 PHF601 6 1/8" 1/8" 12.5/7.5|8 29.5(16.5/23 (12
PH602 1/4" 12.5 |10 28 16.5 |25 14 PHF602 1/4" 1/4" 12.5/10 |11 |35 |16.5[25 (17
PH603 3/8" 12.5 |11 33 16.5 |27 19 PHF603 3/8" 3/8" 12.5/11 |12 |40 |[16.5[27 |19
PH801 1/8" 15 7.5 25 18.5 |26.5 |11 PHF801 1/8" 1/8" 15 |7.5(8 29.5/18.5(26.5(12
PH802 8 1/4" 15 10 28 18.5 (28.5 |14 PHF802 8 1/4" 1/4" 15 |10 |11 |35 [18.5/28.5(17
PH803 3/8" 15 11 33 18.5 [29.5 |19 PHF803 3/8" 3/8" 15 |11 |12 |40 [18.5/29.5(19
PH804 1/2" 15 14 39 18.5 (32 24 PHF804 1/2" 1/2" 15 |14 |13.5|47.5/18.5/32 (24
PH1002 1/4" 18 10 28 21 31 14 PHF1002 1/4" 1/4" 18 |10 |11 |35 |21 (31 17
PH1003 |10 3/8" 18 11 33 21 33 19 PHF1003|10 |3/8" 3/8" 18 |11 |12 |40 |21 (33 |19
PH1004 1/2" 18 14 39 21 35.5 (24 PHF1004 1/2" 1/2" 18 |14 |13.5/47.5/21 |35.5(|24
PH1203 12 3/8" 21 11 33 23 36 19 PHF1203 12 3/8" 3/8" 21 (11 |12 |40 |23 |36 |19
PH1204 1/2" 21 14 39 23 38 24 PHF1204 1/2" 1/2" 21 |14 |13.5/47.523 |38 (24

A

PA)

Back..

& F



